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Mathematics

oeThe simple interest on a sum of money for 2 years at 4% per anum is Rs.
340/- . Find the sum of money ?

(a) Rs. 4350/ - (b) Rs. 4250/- (c) Rs. 4150/- (d)
None of the above.

eSrivastava purchased a camera for Rs. 2365/- , including sales tax @ 10%.
Find the list price of the camera.
(@) Rs. 2050/- (b) Rs. 2250/ - (c) Rs. 2150/- (d) None of the above.

olf 2x + Sy) : (B5x-7y)=5:3,findx:y?
(a) 50 :19 (b) 40 : 21 () 51:18 (d) None of the above.

eThe mean height of 8 students is 152 cm. Two more students of height 143
cm and 156 cm join the group. What is the new mean height.
(@) 155.5 cm (b) 153.5 cm. (c) 151.5 cm. (d) None of the above.

oIf A’s salary is 20% more than B, by what percent (%) is B’s salary less than
A’s.
(a) 16.66 % (b) 13.33% (c) 17.33% (d) None of the above.

eA certain sum of money becomes 5 times itself in 7 years at simple interest. In
how many years will it become 25 times itself ?
(a) 41 years (b) 43 years (c) 42 years (d) None of the above.

o] purchased some goods for Rs. 1500/-, sold 1/3 of this at a profit of 20% and
the remaining at a loss of 10%, what is my overall percent (%) profit or loss ?
(@) 10% profit (b) 10% loss, (c) No profit no loss (d) None of the above.

oA dealer sold 2 items for Rs. 400/- each, one at a profit of 20% and another at
a loss of 20%. What will be overall percent (%) profit or loss ?
(a) 4% loss (b) 4% profit (c) no profit no loss (d) None of the above.

45 liters of a milk and water solution contains milk and water in the ratio of 2
: 3. How much milk should be added to make the ratio 3 : 2. ?
(a) 20.5 liters (b) 24.5 liters (c) 22.5 liters (d) None of the above.
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eThe average age of a group of 15 youngsters increases by 1 year when a 20
year old is replaced by a new member. What is the age of the new member ?
(a) 35 years (b) 30 years (c) 40 years (d) None of the above.

oA thief escapes from custody and is traveling at 40 km per hour. 3 hours later
the policeman starts the chase at 50 km per hour. After how much time and
how far from the initial point will the policeman catch the thief ?

(a) after 12 hours and after traveling 600 kms. (b) after 14 hours and
after traveling 700 kms. (c) after 15 hours and after traveling 650 kms.

(d) None of the above.

eA is able to do a work in 20 days. B is able to do the same work in 30 days. In
how many days can A and B do the work together ?
(@) 10 days (b) 14 days (c) 12 days (d) None of the above.

A and B can do a piece of work in 12 days and 15 days respectively. They
begin together but A leaves after 2 days and B completes the rest of the work.
In how much time will the work get completed ?

(a) 12.5 days (b) 11.5 days (c) 14.5 days (d) None of the above.

ePipe A can fill a tank in 4 hours, while a leak can empty the tank in 6 hours.
If the tank is empty and both are opened, in how much time the cistern be full.
(@) 10 hours (b) 14 hours (c) 12 hours (d) None of the above.

o2 apples and 5 bananas cost Rs. 17/-, while 3 apples and 4 bananas cost Rs.
15 /-. What is the price of an apple ?

(a) Re. 1/-, (b) Rs. 2/- (c) 3/- (d) None of the
above.

eFind the 10th term of the series 2, 5, 8, ...covivviiniennnn... ?

(@) 26 (b) 29 (c) 32 (d) None of the above.

oFind the total cost of painting of the four walls of a room of length 12cm,
breadth 5 cm and height 15 cm @ 2.5 per square centimeter ?
(a) Rs.1050/- (b) Rs. 1275/- (c) Rs. 1225/- (d) None of the above.

eThere are “N” number of people in a room and each one shakes hands with
everyone else. If the number of hand shakes is 78, find the value of “N”
(a) 13 (b) 17 (c) 23 (d) None of the above.



4

eHow many four digit numbers can be formed using the digits 0,1,2,3,4,5,6,7
without repetition.
(@) 1570 (b) 1670 (c) 1470 (d) None of the above.

oIf the republic day in the year 2011 falls on a Sunday, then when will the
Republic Day be celebrated in the year 2015 ?
(a) Sunday (b) Friday (c) Wednesday (d) Thursday

eA dishonest shop keeper uses a weight of 800 gms. for a kg and professes to
sell his goods at cost price. His profit is ?
(a) 25 % (b) 20% (c) 30% (d) None of the above.

eThe monthly salary of A, B and C are in the ratio of 2 : 3 : 5. If C’s monthly
salary is Rs 1,200/- more than that of A, find B’s monthly salary ?
(a) Rs. 1000/- (b) Rs. 1500/- (c) 1200/- (d) None of the above.

eAjoy sold his watch for Rs. 1140/- and thereby loses 5%. In order to gain 5%,
he has to sell the watch for
(a) Rs. 1260/- (b) Rs. 1240/- (c) Rs. 1280/- (d) None of the above.

eA train 100 meter long, running at 54 km per hour takes 20 seconds to pass a
bridge. The length of the bridge is
(@) 250 meters (b) 200 meters (c) 225 meters (d) None of the above.

A man has some dogs and hens. The total number of heads is 36 and the total
number of feet equal to 120. Then the number of hens will be
(@) 11 hens (b) 14 hens (c) 13 hens (d) 12 hens

¢10 sheeps and 5 pigs were bought for Rs. 6,000/- . If the average price of a
sheep is Rs. 450/-, find the average price of a pig.
(a) Rs.300/- (b) Rs. 325/- (c) Rs.350/- (d) None of the above.

eIn a town there are 94,500 people. 2/9th of them are foreigners, 6400 are
immigrants and the rest are natives. How many are natives ?
(a) 67,100 (b) 65,300 (c) 67,900 (d) None of the above.
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eWhich of the following fractions has the highest value 3/5, 4/3, 2/5, 1/2
(a) 3/5 (b) 4/3 (c) 2/5 (d) 1/2

A man spends 80% of his income. His income is increased by 20% and he
increased his expenditure by 10%. His savings are increased by
(@) 50 % (b) 37.5 % (c) 60% (d) None of the above.

°A is twice as fast as B and takes 20 days to do a job. In how many days can A
and B do it together ?
(a) 13.66 days (b) 13.33 days (c) 13 days (d) None of the above.

GENERAL INTELLIGENCE & REASONING, COMPUTER,
GENERAL AWARENESS

eThe Cannes Film Festival takes place in which of these European countries ?
(a) Germany (b) Spain (c) France (d) Italy.

oeThe “Statue of Unity” is a statue of which of these eminent Indian
personalities ?

(a ) Jawaharlal Nehru (b) S. Radhakrishnan (c) Mahatma Gandhi (d)
Sardar Vallabhbhai Patel.

eThe name of the world’s first test tube baby was
(a) Louise Brown, (b) Dolly (c) Michelle Robberts (d) Edward
Richards

o“ The test of my life” is a biography of which of these Indian Cricketers
(a) Yuvaraj Singh (b) Sachin Tendulkar (c) M.S Dhoni
(d) Rahul Dravid.

eThe autobiography of Nelson Mandela is

(a) Audacity of Hope (b) Long walk to Freedom

(c) Up from Slavery (d) My fight against apartheid

o“ Law day” in India is observed on

(@) 6th November (b) 12th November (c) 21st November (d) 26th November
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eThe Gir Sanctuary is located in which of these Indian States
(a) Rajasthan (b) Madhyapradesh (c) Odissa (d) Gujrat.

eWhat does the phrase “ Ponzi Scheme” mean
(a) A Tax evading method (b) A mutual fund investment
(c) A fraudulent investment scheme (d) A scheme for children.

eWho amongst the following directed India’s first ever feature film ?
(a) Dadasaheb Phalke (b) Raj Kapoor (c) Dhiren Gangully (d) Baburao Painte

eVesuvius Volcano located in
(a) France (b) Italy (c) Austria (d) Slovenia.

eDeficiency of Vitamin A causes
(a) Beriberi (b) Scurvy (c) Rickets (d) Night blindness.

¢ATM stands for.
(a) All Time Money (b) Alternative Teller Money
(c) Automated Teller Machine (d) None of the above.

eWho was the first Indian to swim across English Channel ?
(a) Mihir Sen (b) Bula Chowdhury (c) Masadur Rehman Baidya (d)
Arati Sen.

eLight year is a unit of
(a) Distance (b) Time (c) Voltage (d) weight

eThe Santosh Trophy is associated with
(a) Cricket (b) Football (c) Kabaddy (d) Hockey.

eWhich of these articles of the Indian Constitution deals with the formation of
new states ?
(a) Article 11 (b) Article 36 (c) Article 3 (d) Article 5

eWhat is the minimum age required to become a member of Rajyasabha ?
(@) 35 years (b) 21 years (c) 30 years (d) 25
years.



eEdward Jenner invented vaccine for
(a) Chicken Pox (b) Small Pox (c) Anti Rabies (d) Influenza.

*“A thing of beauty is a joy for ever” line written by
(a) William Shakespeare (b) John Keats
(c) William Wordsworth (d) Shelly

ePulitzer prize awarded for outstanding work in the field of
(a) International understanding (b) Environmental studies
(c) Science and technology (d) Literature and Journalism.

eKelucharan Mahapatra is associated with
(a) Kathakali Dance (b) Katthak Dance (c) Odissi Dance (d)Bharat Natyam.

eDavid Beckham was associated with which of the following club or clubs ?
(a) Manchester United (b) Real Madrid
(c) Loss Angels’ Galaxy (d) All the above.

eSeoul is the capital of
(a) South Korea (b) North Korea (c) Ireland (d) Japan

eLargest Ocean of the world is
(a) Indian Ocean (b) Pacific Ocean (c) Atlantic Ocean (d) Southern Ocean

eWorld Mother Tongue Day is celebrated on
(a) 34 March (b) 8th December (c) 21st February (d) 21st July.

e1 Mega byte is equal to
(a) 1024 Bytes (b) 1024 Kilo Bytes (c) 1024 Giga Bits (d) None of
the above

eWhat is the full form of RAM
(a) Read Access Memory (b) Read Alternative Memory
(c) Random Alternative Memory (d) Random Access Memory

ewww stands for
a) Whole world web (b) Wide world web (c) Web world wide
(d) World wide web.



eFull Form of URL
(a) Uniform Resource Locator (b) Uniform Resource Link
(c) Uniform Registered Link (d) Unified Resource Link.

eWho amongst the following was the founder of Microsoft ?
(a) Steve Jobs (b) Bill Gates (c) Martin Cooper (d) Ericson

Direction : In Question number 61 to 64 select the related word/letters
from the given alternatives

ePage : Pen :: Computer : ?
(a) Monitor (b) CPU (c) Cartridge (d) Key Board.

eMelt : Liquid :: Freeze : ?
(a) Crystal (b) Solid (c) Ice (d) Evaporate

eBM : DO ::EB:?
(a) GD (b) BK (c) DL (d) GE

eGun : Bullet :: Chimney : ?
(a) Roof (b) Smoke (c) House (d) Ceramics

olf FRIEND is coded as HUMJTK, how is CANDLE written in that code ?
(a) EDRIRL (b) DCQHQK (c) ESOFME (d) None of the
above

eArrange the following words according to the dictionary (i) TORTOISE (ii)
TORONTO (iii) TORPED (iv) TORUS (v) TORSEL

() ii, v, iii, 1, iv.  (b) ii, v, ifi, iv, 1  (c) ii, iii, v, i, iv (d) i, iii, v, iv, i

eWhich one of the given responses would be a meaningful order of the following
words (i) Family (i) Community, (iii) Member, (iv) Locality (v) Country ?
(a)iii, i, iv, ii, v (b) iii, i, ii, iv, v (c) iii, i, ii,v, iv (d) iii, i, iv, v, ii.

Direction : (question no 68 to 70) : In each of the following questions find
the odd one from the given responses ?

¢(a) Room (b) Chamber (c) Varanda, (d) Cabin



9
¢(a) Mouth Organ (b) Electric Guitar (c) Key Board, (d) Sonata

¢(a) Influenza (b) Scurvy (c) Rickets, (d) Night
Blindness.

ENGLISH GRAMMAR AND COMPOSITION

Direction : In question number (71 to 75), out of the given alternatives,
chose the one which best expresses the meaning of the given words.

*EAGER

(a) Clever (b) Arrogant (c) Curious (d) Devoted
¢COMMEMORATE

(a) Boast (b) Remember (c) Manipulate (d)
Harmonise

oLETHAL

(a) Unlawful (b) Deadly (c) Sluggish (d) Smooth
*TYRANNY

(a) Misrule (b) Power (c) Madness (d) Cruelty
eWRATH

(a) Jealousy (b) Hatred (c) Anger (d) Violence

Direction : In each of the following questions (76 to 80) choose the word,

opposite in meaning to the given words.

e SHALLOW

(a) High b) Hidden (c) Deep (d) Hollow
eSYNTHETIC

(a) Cosmetic (b) Plastic (c) Affable (d) Natural.
ePAUCITY

(a) Abundance (b) Scarcity (c) Presence (d) Richness.
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eDISCOUNT

(@) Interest (b) premium (c) Profit (d) Concession.
*ERUDITE

(a) Professional (b) Immature (c) Unimaginative (d) Ignorant

Direction : In each of the following questions (81 to 85) out of the four
alternatives choose the one which can be substituted for the given words/
sentence

eTo examine one’s own thoughts and feelings
(a) Meditation (b) Retrospection (c) Reflection d) Introspection.

eAnything written in a letter after it is signed
(a) Posterity (b) Post-diction  (d) Postscript (d) Corrigendum

eThe custom of having more than one husband at the same time
(a) Polygamy (b) Polyandry (c) Debauchery (d) Bigamy.

eTo send an unwanted person out of the country
(a) Exclude (b) Ostracise (c) Deport (d) Expatriate

oA person living permanently in a certain place
(a) Native (b) Resident (c) Domicile (d) Subject

Direction : ( question no 86 to 90) Pick out the most effective word from
the given words to fill in the blank to make the sentence meaningfully
complete.

eJ[shwar Chandra Vidyasagar was one of the Chief ...................... of women’s
rights

(a) Preomoters (b) facilitators (c) protagonists (d) instigators

eHe is too .............. to be deceived easily

(a) strong (b) intelligent (c) modern (d) honest
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eDEMOCTACY  ..evvvinniniininnennens some values which are fundamental to the
realisation of the dignity of man

(a) cherishes (b) nourishes (c) nurtures (d) harbours
e eye witnesses, the news reporter gave a graphic description
of how the fire broke

(a) Reporting (b) Observing (c) Seeing (d) Quoting
eMan who has committed such an .................... crime must get the most
severe punishment

(a) injurious (b) uncharitable (c) unworthy (d) abominable

Direction : In each of the following questions (91 to 95) an idiomatic
expression/a proverb has been given followed by some alternatives.
Choose the one which best expresses the meaning of the given
idiom/proverbs.

oTo turn over a new leaf

(a) to change completely one’s course of action

(b) To shift attention to new problems after having studied the old ones
thoroughly

(c) to cover up one’s fault by wearing new masks

(d) to change the old habits and adopt new one.

oTo take with a grain of salt
(a) to take with some reservation (b) To take with total disbelieve
(c) to take whole heartedly (d) to take seriously

e To cast Pearls before a swine

(a) to spend recklessly (b) to spend a lot of money on the upkeep
of domestic hogs
(c) to waste money over trifles (d) to offer to a person a thing which

he can not appreciate.

*To keep the ball rolling
(a) to earn more and more (b) to work constantly
(c) to keep the conversation going (d) to make the best use of.
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eDog in the manger
(a) An undersized bull almost the shape of a dog
(b) a dog that has no kennel of its own

(c) a person who cooks himself in difficulties on account of other personal

(d) a person who prevents others from enjoying something useless to

himself

Direction : (Question number 96 to 100) Each of the following sentences
has a blank space and four words given after the sentences. Select
whichever word you consider most appropriate for the line space so as to

give a complete meaning.

eOnly about 50% of the children have been covered .........................

immunisation programme

(a) by (b) through (c) in (d) against

o] hate sitting .........cceoeiiiiinnne. him as he always smells of garlic

(a) along (b) beside (c) besides (d) at

eEver since his parents died, his uncle has ........................ all his needs
(a) seen to (b) seen of (c) seen by (d) seen through
eHe was leaning ..................... the wall

(@) in (b) towards (c) with (d) against
OYOU...oiiiiiiiiiiiieanenn, better wait for your turn

(a) could (b) had (c) should (d) may.



